Name:

Period: Metals, Non-Metals and Valence Electrons

Octet Rule

Valence Electrons

Lithium 6

Hydrogen 1 Oxygen 17
l Inner shells are
not valence
electrons
I valence electron 1 valence electron

Hydrogen and Lithium are both in 6 valence electrons
Group 1A—both have 1 valence electrons.

Elements with the same valence electrons have

« Valence Electrons O
1A /

%) <
—> 1 1 I—i
H 2A4— Groups Groups —#13A 14A 15A 16A  17A € Exception:
Electron A Helium
Levels 2 2 4 Divides 5 6 7 8 9 10 only has 2
(Periods) Li Be ik —~— B C N O F Ne | valence
metals and I
non-metals
2 /
3 ITI 12 13 l—} 15 16 47 18
Na | Mg Al S1 P S Cl Ar
4 19 20 Transition Metals 31 32 33 34 35 36
K Ca (valence electrons vary) Ga Ge As Se Br Kr
— ﬁ
Metals and Nonmefals Metals or Non-metal’ Gag Futer Groups Periods
. Along the separation ine are
Calemm (Ca): the semimetals or metalloids:
Boron (B], Silicon (Si),
Biomine (Bl‘)i Germanium (Ge), Arsenic

(As), Antimony (SD). These
Dave propertes of both
metals and non-metals,




Octet Rule A. Elements found on the right side of
the periodic table.
Metals B. Elements found on the left side of the
periodic table.
Valence C. Says that atoms tend to be more stable
electrons with eight valence electrons.
D. Electrons in the outermost electron
Non-metals level. Involved in chemical bonding.

How many valence electrons?
Calcium (Ca) 2 .

Potassium ( )
Oxygen ( )

Hydrogen ( )
Helium { )]

Aluminum( )
Sodium ( )

Argon ( )
Boron ( )

Nitrogen ( )]

s

Meral or Non-metal?

_ M Abhominum { A1) _ Fkoa( 3}
_ ODmygend _ Floemme ()
_ Geld{ ) —  Tm{ )
_ Mitrogen{_ ) — Ihmum( )

L Bl'l:ll'l.'lJIl.E . . I:]:.:lem S |

Erypton{ 3 Tead{ )

Connecr the elemenr on the lafr wirh ehe element
on the righr thar has similar reacrivin.

Chlorine Bervllinm
Fhosphorous \ Potassium Efgmianiz wirh tha
Magnesium Todine Lame = of
Sodnum Al oy
Bawon Cauygen the same reactiin.
Sulfur Mirogen

7 protons and 10 electrons.  Newtral atom or fon!
13 protons and 15 elecovons. Newmal arom orion?
35 protons and 37 elécrons. Neumal atom or fon”

ive the element abbraviatdon and charge
5 protons znd 2 electrons: Element: B Charge:  +31

i

16 protons and 18 elecrons: Element:  Charge:

33 protons and 36 electons: Element: Charge:

Elament;

£ of pentrons:
Mass =

= of electrons:

@

£-of valence electrons:

It 1z an om?

Elamient:

= of pentrons:
Mass =

£ of electrons:

#of valence electrons:

It 1z an wom?

Elament:

£ -of nentrons:
Mass =

of electrons:

of valence electrons:;

It 1z an om?

Are theze slemenis isoropes af one another?
Element A: 12 protons; 11 electrons: 13 neutrons.
Element B: 13 protons; 12 electrons; 13 neuwhons

Are theze slements isorope: of one another?”
Elemeant 4: 14 protons: 15 electrons: 13 newtrons.

Element B: 14 protons: 14 electrons: 13 neutrons.

Are theze elements isotoper of one onothear?
Element A: 12 protons: 11 elecirons; 13 neutrons:
Element B: 12 protons: 12 electrons; 13 newirons.

Are theze alewenis isotopes of one anether?
Element &: I8 protons: 18 electrons:; 18 neutrons,
Element B: 18 protons; 18 electrons; 19 neutrons

Sulfr { S Y mrow 3

. Sulfurkas 2

1Talence electrons mlevel 3 ;

complate
electron level: and &

blagmezrum | 1 IS InTow . Blzgnesiamn has

complete alactron levels and valence alectrons m

lewel

Carbon | } 15 10 rowr . Carbon has complete

electron letvels and vTalence electrons mm level

 13'm romw . Potazsmm has

Potazzmm |
complete elactron levels and valence electrons m
level

complete

Argon | } 1= 10 row . Argon has

electron levels and vilence electrons mm level




